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a starting point was 80.750 .

a) Carry out reduction of heights by the collimation method.

b) Determme thc gradient of the line joining the f11 st and last pomts
. OR &

T ist out the methods of confouring and expldin any one method i detail.

Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
.., ~Part B consists of 5 Units...Answer any one full question  from each unit.
::: “imEach question i¢arries 10 marks and may haveail; ¢ as sub giigstions.
PART-A
(25 Marks)
l.a)  State the principles of surveying. (2]
:b) .- List out the- ‘tape corrections: - PESRE : ey o[3]
ic) “..Differentiafe between simplé levelhng and compound levelhng N )
d)  Define: Contour, Horizontal equivalent and Contour gradient. [3]
e) State the limitations of Simpson’s rule. [2]
f) List out the formulae for computing the volumes [3]
g)  Define Transiting and swinging the telescone in theodolite surveymO. [2]
h): .- List out thetemporary adjustinetits of a theodolite. S S )
i) “~'List out thé méthods for setting-out simple curve-by chain and Lape EON2)
1) Differentiate between stadia and tangential methods of tacheometry. [3]
Part-B
(50 Marks)
2.5l Explain abeut c“Iass1f10at10n of surveying. ol Dol D [l 0]
H B H OR
3. The following were observed in a compass traverse. Correct for local attraction. [10]
Line Fore bearing Back bearing
AB | 0815’ 2487157
Ll BC  |148"45 60 150 |, R
CD | 224730 46° 00’
DE 217° 15’ 38" 15’
EA | 327°45 147° 45’
4.;, .~ The following eonsecutive readings were taken with a dumpy-level and 4 m levelling
L staff on a confinuously sloping..ground at 36 m intervals: 0. 680;-1.455, 1.855, 2.330,

2.885, 3.380, 1.055, 1.860, 2.265, 3.540, 0.835, 0.945, 1.530 and 2.250 m. the R.L. of

[5+5]

o



) Mid-ordinate rule
“ib) Trapezoidakrule and -

“angles of e

.~ Estimate the volume of earth; werk. OO O

The following offsets were taken from a chain line to a hedge at regular intervals of
5.0 m: 2.72, 3.46, 5.23, 6.80, 4.86, 3.35, 3.00, 2.50, and 1.60 m. Determine the area
included between the chain line and the hedge by using:

¢) Simpson’s rule. . [4;3+.3Nj.
OR

A road at the formation level is 6 m wide and has a side slope of(‘;:/I. The road is to
have a constant R.L. of 200 m. The ground is level across the centre line of the road.

Chainage (m) 0 20 140 60 |80 [100
Surface level along centre line of | 204.6 | 203.0 | 200.8 201.6 | 202.0 | 200.2
road

oo [10]

List out the methods for measuring horizontal angle and explain any two methods in

detail. [10]

OR
The observations were made on the top A of a flag AB on a hill from two instrament

i Ustations Pand:QQ, 100 m apart;.the stationg. P #nd Q beingiin:the line with.A: The

levition of A at’P aiid Q were 30° 05" and 17° 52" réspectively. The staff
reading upon the BM (RL = 311.29 m) were, respectively, 2.690 and 3.815 when the
instrument was at P and Q, the telescope being horizontal. Determine the elevation of

the foot B of the flag if AB is 3.5 m. [10]
- T he followgiﬁ’g;f;ére the dlstances of the s!aéff’p@&tion front::::ﬂxf::;:instmment%jﬁhﬁzg:the
corresponding staff intervals. Calculate the tacheometric constants. [10]
D (m) 20 50 ] 100 120
S (m) 0.195 0.495 0.997 1.197
N Ll OR e S

The chainage of the intersection of two straights having the deflection angle of 50%is

1680.0 m. If the radius of the curve is 450 m, calculate the following:

a) Tangent distance b b) Length of the curve
¢) Length of the long chord and d) Apcx distance. Ve [10]
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